Installation Guide
STRHMIES

VEHICLE APPLICATIONS
: S | FORD USA MUSTANG MK6 S$550 2014-
i PART NO. 8992

Contents AS B

1. Differential Bushing Insert =&z # R (R/L) 4PCS

2. Bolt 18%% ( M14x2.0x110) 2PCS
3. Bolt #8#% ( M14x2.0x65) 2PCS
4. Bolt %% ( M14x2.0x30) 2PCS

5. Washer 8/ - #5] 2PCS

Illustration of inst_allation-Rear Illustration of installation-Front
BRZEREE A ZEREE

g—c
D
[=]

g/ TEL: +886 3 5370822 FAX: +886 3 5373027
E-MAIL: info@hardrace.com WEBSITE: WWW.HARDRACE.COM



